EXTERNALITIES & TAXES, SOCIAL INSURANCE, AND INCOME DISTRIBUTION

1. 
a. Mrs. Chau plants lots of colorful flowers in her front yard. 
What type of externality (positive or negative) is described?
Is the marginal social benefit of the activity greater than or equal to the marginal benefit to the individual?
Is the marginal social cost of the activity greater than or equal to the marginal cost to the individual?
Consequently, without intervention, will there be too little or too much (relative to what would be socially optimal) of this activity?
b. Anna Crombie and Fritz, a popular clothing store, opens in a mall, attracting more shoppers who also visit other stores.

What type of externality (positive or negative) is described?
Is the marginal social benefit of the activity greater than or equal to the marginal benefit to the individual?
Is the marginal social cost of the activity greater than or equal to the marginal cost to the individual?
Consequently, without intervention, will there be too little or too much (relative to what would be socially optimal) of this activity?
c. The fraternity next to your dorm plays loud music, keeping you from studying.
What type of externality (positive or negative) is described?
Is the marginal social benefit of the activity greater than or equal to the marginal benefit to the individual?
Is the marginal social cost of the activity greater than or equal to the marginal cost to the individual?
Consequently, without intervention, will there be too little or too much (relative to what would be socially optimal) of this activity?
d. Maija, who lives next to an apple orchard, decides to keep bees to produce honey.

What type of externality (positive or negative) is described?
Is the marginal social benefit of the activity greater than or equal to the marginal benefit to the individual?
Is the marginal social cost of the activity greater than or equal to the marginal cost to the individual?
Consequently, without intervention, will there be too little or too much (relative to what would be socially optimal) of this activity?
e. Justine buys a large SUV that consumes a lot of gasoline.

What type of externality (positive or negative) is described?
Is the marginal social benefit of the activity greater than or equal to the marginal benefit to the individual?
Is the marginal social cost of the activity greater than or equal to the marginal cost to the individual?
Consequently, without intervention, will there be too little or too much (relative to what would be socially optimal) of this activity?
5.  
Education is an example of a positive externality: acquiring more education benefits the individual student and having a more highly educated work force is good for the economy as a whole. 
The accompanying table illustrates the marginal benefit to Sian per year of education and the marginal cost per year of education. Each year of education has a marginal external benefit to society equal to $8,000. Assume that the marginal social cost is the same as the marginal cost paid by an individual student.
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a. Find Sian’s market equilibrium number of years of education

b. Calculate the marginal social benefit schedule

	Years of Education
	Sian’s marginal benefit per year
	Marginal external benefit to society
	Marginal social benefit
	Sian’s marginal cost per year

	9
	-
	-
	-
	-

	10
	$20,000
	$8,000
	
	$15,000

	11
	19,000
	8,000
	
	16,000

	12
	18,000
	8,000
	
	17,000

	13
	17,000
	8,000
	
	18,000

	14
	16,000
	8,000
	
	19,000

	15
	15,000
	8,000
	
	20,000

	16
	14,000
	8,000
	
	21,000

	17
	13,000
	8,000
	
	22,000


What is the socially optimal number of years of education?
c. You are in charge of education funding. Would you use a Pigouvian tax or a Pigouvian subsidy to induce Sian to choose the socially optimal amount of education?
How high would you set this tax or subsidy per year of education?
4.  
You are advising the government on how to pay for national defense. There are two proposals for a tax system to fund national defense. Under both proposals, the tax base is an individual’s income. Under proposal A, all citizens pay exactly the same lump-sum tax, regardless of income. Under proposal B, individuals with higher income pay a greater proportion of their income in taxes.

a. Is the tax in proposal A progressive, proportional, or regressive? 
What about the tax in proposal B?
b. Is the tax in proposal A based on the ability-to-pay principle or on the benefits principle? 
What about the tax in proposal B? 

c. In terms of efficiency, which tax is better? Explain.

9. 
The country of Marxland has the following income tax and social insurance system. Each citizen’s income is taxed at an average tax rate of 100%. A social insurance system then provides transfers to each citizen such that each citizen’s after-tax income is exactly equal. That is, each citizen gets (through a government transfer payment) an equal share of the income tax revenue. 
What is the incentive for one individual citizen to work and earn income?
What will the total tax revenue in Marxland be?
What will be the after-tax income (including the transfer payment) for each citizen?
Do you think such a tax system that creates perfect equality will work?
